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Instructions

For each puzzle, draw a
single closed loop along the
grid lines using the clues
given.

The loop must not have any
intersections with 3 or
more line segments and
must not have any dead
ends with a single line
segment coming to a halt.

Numbered cells display how
many line segments from
the constructed loop must
surround the cell.

Oops.

The original posting of this puzzle
contained an error: a2 instead of
alinthe top-left corner of the
top puzzle. Thank you to hoth
Nancy Backes and RogueSkunk
for reporting the error.
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